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2.(C)3%x2+1=7
7x2-1=13
13 x2+1=27
27 x2+1=53
53 x2+1=107
3. (C) Ravish = 7 years + Vikash's age
Akash's age = Ravish - 3 years
Mohit's age = Akash's age - 5 years
.. Ravish > Akash > Vikash > Mohit
4. (C) Logic :
Sum of place values of all alphabets multiplied
with 2.
IPHONE — 9+16+5+15+14+5 > 67x2 = 134
GALAXY — 9+1+ 12+6+24+25 — 70x2=140
5. (D) Ram's position from top = 12
Ram's position from bottom = 16
Total number of students = (12 + 16) — 1
=28-1
=27
6. (B) Maruti's position from the left end = 20%
Honda's position in the row = (20% + 10%)
=30t
So, total number cars in the row = (30 + 30)-1
=359

7.(A)

e

AN

Only I follows.

SOLUTION

=]

8. (B) (o oDo o

=]

9. (B) 200 + 100 — 300 + 200 + 10 x 2 — 40

200
=300 — 300 + — x2 = 40

10

=40-40=0

10. ) S U RG.EO;N
+3

QLHDUR

C.O.R N.E.R
-3

+>§

OHKUTLTF

Similarly

Logic : (+3, -3, +3, -3, 43, -3)
11.(B) 14+2 x4>6 x4

=7 x4>6x4
=28>24

12. (A) Maron uses Plumb line to measure the depth

and straight lines.

Surgeon uses scaspel dwing operation of

patients for cutting skin if required.

13. (B) BKPG

DNRIJ =

+2

CMOG

+3

:[EPQJ
A

‘||+3

+3

A ‘||
|

+2

14. (C) (16)* — 256

+2

+3

(17 —> 289 + 1 = 290

(31 - 961

(32 — 1024 + 1 = 1025

+2
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15. (D) Farmer, blacksmith and cobbler all work | 21. (A) If we open the dice it will like this figure

directly but helpers are the people who assist a So the pairs which are formed is (%, $) and
person in there work. A
16. (A) Later is the famous place of the former city. L* f; |
President house not situated in Mumbai Z
Other are monuments situated given city.
17. (A) LIAR cannot be formed from
QUALIFICATION as R is not there in | 22. (B)
QUALIFICATION
18. (D) (9+11)x2=20x2—>40 23. (D) Woods, wood, Leather all we natural resource
(13+12) x3=25%x3 375 but are of different in nature and obtained from

(40 + 41) x 5= 81 x 5 —> 405 different source.

0=+ 0 =x DH|P(|2 j ZDLT
19.D) 7+2+4+5>18—>1+8—>9 .

8+3+1+6—>18—>1+8—>9

2+3+7+6>18—>1+8—>9 25.(0)
20. (D) 11 x2 x4 =88+ 10 —> 98

3x6x5=90+ 10— 100 _
Vehicles

8§x9x1=72+10—> 82
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I —
1'(C)50, 59, 75, 100, [136
U Al AL ]
9 16 25 36
By 4y 6y ()
2. (D) 4:32

64
(4)' =64 > —-=32

216
(6)' =216 —>— = 108

3. (B) Let the present age of Akshan but x.

Savan's present age = 4x

After, 10 years.

(dx+10)=2 (x+10)

4x+10=2x+20

2x =10

X = 5 years.

.. Sawan's present age = 4 x 5 = 20 years.
LAy s 1L 3, M

! +3 : +6 : +12 : +21 : +3|3

I f f I
+9  +12

+3 46

50)01+2+3—>6
7+8+9—>24
4+5+7—>16
5+6+7—> 18
All are divisible by 3 except 457.
6.(C)29:13::37:7
13x2—>26+3—>29
17 x2 —>34+3 > 37
7. (C) After opening a dice, it will appear in this way.
The pairs of opposite surfeces are :
(2,5), (1, 6) and (4, 3).

SOLUTION

w0x|4>’—‘

5

P IS

Both I and II follow.

9. (A)DGJ

B DN ZAR

| it Al il
21 =2 i

3 -3 -3 -3
7 g} T T4

10. B) 12:192::15:7
12 x 16 — 192
15 x 16 —> 240

11.(D) g——B—AE G

D—F E——C

Some man are worker and garden is
different.

13. (C) U+H3I T +3Er3 D
+3 +3

LQXGHOW
Similarly

CRITIC
3173 £33
+3 +3

LUFF LW
Logic : 3+, +3, +3)
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14. (B) For being successful one should have good =x+20

speed along with accuracy and Rahul has good Man's age = (6x + 2 + 18)

speed but his accuracy is low. so, he might not =0x +20

be succesful.

15. (A)

16. (C) (9, 35, 16)

9—> (3)?
16 —> (4)*
(36, 55, 25)
36 = (6)*

25 = (5)?

17.(B) 243 % 3 =18
243 x 3 =1729
7249 = 19
Similarly 187 % 4 = ?
187 x 4 =748
7+4+8=19=2?

18. (A)
&

If only conclusion I follows.
19. (A) Let the son's age would he 6x
Present ages,

124%4 = 19
124 x 4 = 496
44946 = 19

A /I

Son'sage=x+2

Man's age = 6x + 2

After 18 years.

Son's age willbe x +2 + 18

S 6x+20=2 (x+20)
6x +20 =4x+40
4x =20
x = 50 years
Man's present age = (6 x 5) +2
= 32 years
Son's present age = 5 + 2 = 7 years.
20. (B) Only conclusion 1II is true.
21.(A)6 x64+8+45-8
=6x8+45-8
=48+45-8
=93 -8
=85

2.0 A, B, E J Q
NN,
143 45 4T 49

Father

Wife™

23. (0)
Saksham

Nidhi
24.(D)bacdcabacd cabacdca
25. (A) 2023 — 2017 = 6 years
6 year = 1 leap year + 5 normal year
1x2+7x%x5
=2+5===9
7
2023 calendar same as 2017 calender
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1. (B) 132 : 182 :: 306 : ?
(12 —> 144 — 132 = 12
(14> = 196 — 182 = 14
(18)° — 324 — 306 = 12
(20> — 400 — 20 = 380

2.(C
()HDF : KCK:MYD : P X1

L7 B

+5 +5

3. (D) Doctors uses stethoscope for checking
patients whereas authors uses pen for writing.
4. (B) Diamond, gold and silver all there of them are

expensive metals.

5.(B) 47 x3 =141
56 x 3 =168
61 x 3 =183
26 x3=178

6. (B) Sarcastic, tronical, and complaisant all are the
tone of writing one speaking.
7.(C) 187, 152, 124, 103,
[ M M A
-35 28 21 -14

8.Mqoor oORS

| | iy i) T T
+2 +2 +2
3 -3 -3

+1 +1 +1

9. (A)

(X}
]
-
]
w
[+
~
»
~N
o
(=]
]
w
]
w

SOLUTION

10. (C)
0]
17km, L 17km
8km
Savita| Saveen
2km  7km

11. (B) 8+ 3 = 61

64 -3 =061

102+ 7 =93

100 -7 =93

122+ 12 =192

144 — 12 = 132

12.D)Modof5-1=4,61=6-1=5
4, 5 continuses sequence
otherwise difference 1
Modof 6 -3=3,15=5-1=4
3.4 continue sequence
otherwise difference 1
Modof 7-4=3,15=5-1=4
3, 4 continue sequence
otherwise difference 1
13. (C) Read cannot be formed from the word
UNFAVOURABLE as 'D' is not there in the given
word.
14. (B) 4. Rescue, 1. Reservoir,
5. Resign, 2. Resort, 3. Restless
4,1,5,2,3
15. (A) Carnivorous, cows, both are animals but cows
are not carnivorous animals.
16. (D) Ifis said that first number will be of row and
second number will be of column.
N E AR
57,79, 32, 24

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332

[43]



| Reasoning/aavifem | [ By Deepak Tirthyani Sir |

17.(C) 3 x4 —>12 x4 =48 (1+2+3+4+5)=15
4x2-58x%x2=16 15 x 15 =225
Tx1>7x1=7 23. (A) I like you = 64

9+ 12+9+11+5+25+15+21=107
J 1+0+7 = 8, 82 =64

18. (C) Similarly Thave U=?
9+8+1+22+5+21=66

6+6 =12, 12°=144=7?

19. (B) 24. (A) Unemployment allowance or any allowance

can be granted by if grounment has sufficient

found to distribute allowance.

1 o
25. (C) A hour hand moues (—j in 1 minute where
20. (D) 2
as a minute hand moves (6)° in a minute.
T .. Movement of hour hand in 25 minutes
o) ¢
1
Q o) _ _ o
2L.Ob 7 5 q =25 x 5= 12.5
< Movement of minute hand in
2 () 11213]als 25 minute = 25 X 6 = 150.
‘ 4 .. Reflex angle formed at 9 : 25 will be
3 = 360° — (150 — 12.5)°
2 = 360° — 137.5°
1 = 222.5°
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M0c1t9Test ‘ SOLUTION

—
1. (C) Banful and Harmful woth are synonms similary 4£21
rest and idle are also synonm. (C)3-7+4+9=15
2M7 19 n 315 16=7=15
| M A 9#15
- —4 D)4+2+7-3=25
30A)NKH : ROL:DEP :[HIT 10 # 25
Sl || no f % 3 e o B
4 +4 <1 x4 x5 %6 <7
A 7. 13, 20, 28, 37,
4. (B) 1. Disrupt, 3. Disseminate, 2. Distance, 1220 11 1
5. Distinguish, 4. Disturb. or 7 o
5. (C) Bus cannot be formed from the word 3+4, 7+6, 12+8, 18+10,25+12
BIFURCATE as in this word's is not there. ) 5 D) 5
6. (B)B, H, and K all are consonants only E is vowel. So, n;(t tur1;15 in ther:series v;i711 be
7. (C) Attainable means a person who sets a goal 25+8=33
which can be achieved. Rest all there words are 12+2=14

related to the behavioural pattern of a person. 13.(A) prsqgstrtusuytvw

8. (D) 18+4—15=7
27+7-27 =7 14. (C)
46+3-42=7
Same as
51+9-583=7 15. (D)
9.(0)
O 3m N
16(A) D R I V E
J 5m |?m
Tm 42, 95, 69, 56, 02
om - ®) Eather'
M
C 8m F ) )
N is 5m north of point F. Mother ——Maternal Uncle
10. D) (A) 4 -6+22 x3=21 )
-2+66=21 Kratika——Ranvijay
64 # 21
18. O) |wpraon
(B)4-5+2+3=21
9-5=21

19. (C) Eangles and peacocks both are wirds.
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20. (B) N
: > (G
+ Girls
> Only conclusion I follow.
- ﬂ\ >E 24. (D) 1. Ankita is further up the ladder than Mobhit.
< Ankita > Mohit
A 2. Mohit is in between Ankita and Shilpi.
S Ankita > Mohit > Shilpi
21. (A) In figure-1 3. Rahul is further than Ankita
6x3=18 Rahul > Ankita > Mobhit > Shilpi
In figure-2 Mohit is second person from bottom.
7 x4=28 25.(C)
: Week Days
In figure-3
Day before Sunday
7 x 8 =156 Yesterday Monday
22 (B) 74+2=9 Today Tuesday
: Tomorrow Wednesday
9+4=13 day After Thursday
_ 1 Day after Friday
13+6=19 2 Days after Saturday
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1. (B) From light rays travel and sound travels in the

3.(A)7:56::8:7?
7 x8=56
8 x8=04
4. (D) All are divisible by 4 except 102.

5.(C)
B GG LL PQ V
I S S S )
5 #5445

6. (C) Velocity measures the rate of change in

position of an object where as speed measures
the rate of distance covered by an object. veloc-
ity is vector quantity where as speeds. distance
and volume all are scalar quantity.

7. (B) 4. Prejudge 2. Prejudgement
1. Prejudgment 3. Prejudice
4,2.1,3
7, 15, 25, 37,
8.(C) L_MN__N___AN
+8 +10 +12 +14
9.B) BDG.>GDB. >IKN.>NKI, S[PRU|
I R
NUM BER
10. (A) l+2 l—z l+2 l—z l+2 l—z
PSSO ZGP
Similarly
STU DY
l+2 l_z l+2 l_z +2
UR W B A

11.(C) 48 =4 +6 x 3=130

SOLUTION

=12+ 18 =30
=30=30
12. (B)
12km
5km

The person is moving towards north west.

13. (C) l | l

10+10+7+3+1
Total =31

14. (B) All Cricketers are players while some stu-
dents are both cricketers and players.

v
p
15. (B) »

16. (B)

wF

O

17. (A)

18. (C) D O
ot
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19. (B) Avrage age of 19 boys = 21 years
sum of ages of 19 boys = (21 x 19) = 399
When teacher's age is added then the average
= 22 years.
.. Sum of ages of students and teacher
=22 x20 =440
Hence, teachers age = 440 — 399 = 41 years
20. B) 7x5x6=576
4 x2x5=245
8 x2x5=285
21. (A) 3x2x6=36
4 x5x7=140
9 x2x18 =324

22. (A) There are 8 cubes in two column there are 3
such columns.
So, total number of cubes =8 x 3 =24

23. (A)efghefghefghefgh

S\

Neither I nor II follows.
25.0b) D U C K
04, 30, 44, 85
First digit represents the column and second

digit represents the row.
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